
SAP ABAP table UAB_S_CCTRACT_DATA {Cost Center/Activity Type Data from R/3 (Extendable)}

UAB_S_CCTRACT_DATA

ACT_UNIT [UNIT (3)]

ACT_UNIT_ISO [CHAR (3)]

OUTPUT_UNIT [UNIT (3)]

OUTPUT_UNIT_ISO  [CHAR (3)]

T006

MANDT [CLNT (3)]

MSEHI [UNIT (3)]

 UAB_S_CCTRACT_DATA-ACT_UNIT = T006-MSEHI 
0..N

0..N  UAB_S_CCTRACT_DATA-OUTPUT_UNIT = T006-MSEHI 0..N
0..N

T006I

CLIENT [CLNT (3)]

ISOCODE [CHAR (3)]

 UAB_S_CCTRACT_DATA-ACT_UNIT_ISO = T006I-ISOCODE 

0..N

0..N

 UAB_S_CCTRACT_DATA-OUTPUT_UNIT_ISO = T006I-ISOCODE 
0..N

0..N


